NAME: 'J\ﬂéw@f \ZG/\J
UNIT 7 « EXTENDED T RIdONOMETRY Acfe'-?rate“d
Lesson 2: Applications of Trigonometric Equations

Skills Practice 7.2.1: Law of Sines and Law of Cosines

Use the law of sines or the law of cosines to solve for x, to the nearest tenth, in each triangle. If using
the law of sines to determine an angle measure, include all possible angle measures.
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Law of Sines Practice

1. In the triangle below, what is the measure of PQ?

A. > z Lo
sin 70 sin 70
. Ssin 6Q° ‘D 5
sin 70° " sin60°sin70°

2. In AABC, find ZA to the nearest tenth of a
degree if mZ B =95 b=154, and a = 8.0.

/A0 312° B, 321°  C 84.0° D. 923°

] 1
« W

3. In the triangle, what is the measure of —QT? ?

5 P
Al ——
sin 50
B, 5 .‘_;in 5(10
- sin70
5
C —
sin70
5
D. ﬁ &/
sin 50" sin 70 I
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To the nearest tenth of a centimeter, what is the
length of side AB?

A. ) 22,6 B. 248

C. 285 D. 356

| A
v

To the nearest degree, what is the measure of the
largest angle of the triangle?

A. 32
B. 62
'C.) 87
D. 103

aﬁd b=6. Find a.

In AABC, A =30°, C = 105°
A)3¥2 B &2 C V2 D. 242

]
|

A triangle has sides of lengths a, b, and ¢, then,
according to the sine law, what does a equal?

A csinB CsinA
" sinC sin B
bsinC \ bsinA
sin A sin B
r C:'W\’o\
y =\ G ¥ . 25



8. To 1 decimal place, what is the length of AC? 9. Two lighthouses (at A and B) on a relatively
straight shore are 2.5km apart. They both
spot a boat at point C. If mZBAC = 65° and
ms CBA = 20°, then how far is the boat from the
lighthouse A? Answer to 2 decimal places.
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10. In acufe triangle ABC, side a = 10, side b = 12,
and mZ A = 42. Find m/ B to the nearest degree.
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Law of Cosines Practice
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1. In AABC,a=3, b=35, and mZC = 120°. Find 5. In ADEF, if side d = 14, side e = 10, and side
the value of c. 2 ,2 ) 1\ f =12 ﬁ_ﬂd mlF tO the nearest degree PR—
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2. In triangle ABC, a =5, b =8, and mZC = 60. 6. The distance from A fo C is 40 miles and
Find the length of side c. the distance from C to B is 70 miles. If
- ,A‘ mL ACB = 110, find AB to the nearest mile. [Show
€= J f y 4 t‘i )( ¢0% b0 or explain the procedure used fo obtain your .
answer] 2 _ = '
& . AG = ( Ho" 30 - 2 (40)(49) cos\\O
c= = B S
3. Al is standing 50 yards from a maple tree and A L “""‘<E-,,- 2 wa\eS
30 yards from an oak tree in the park. His A 10
position is shown in the accompanying diagram. ) . .
If he is looking at the maple tree, he needs to turn 7. ?tn;lp 011161t 8 Imlc;l fro?}; e inol;ntam P c;k and
his head 120° to look at the oak tree. MLles OM. anothier, s angle _etwecn —
65°. To the nearest tenth of a mile, how far apart
Maple tree _= e are the mountain peaks?
\ G ﬁ f"_'i(}'j' ¥ 5( )! «;h“‘ ‘J! 05\20)
\ A. 6.9 miles B. 7.7 miles
|\ c=70 C. 7.0 miles (D. )7.3 miles
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location 8.  Given AABC with sides a=10, =12 and ¢ =15
units, the sum of angles A and B, correct to the = U) 15 -2 ’\7/
nearest hundreth is: ‘OX";)
How many yards apart are the two trees? L = 181
A. 85.46°. @ 94.54°, s
300
A. 583 B. 652 {C\ 70 D. 75 C. 102.67°. D, 86.54°.
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4. In a triangle, the sides measure 3, 5, and 7. What 9. The smaIlesl' angfe in a right triangle with s1des
is the measure, in degrees, of the largest angle? 28, 45, and 53 is approximately:
71
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Skills Practice 7.2.2: Area of Triangles

Find the area, to the nearest tenth, of each triangle. Draw a diagram if needed.
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7 cm
2 \ .
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Area,: 30\,‘]’ iV\l
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30 mm
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g 0 l.
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32 cm 18 cm Avea= 212.% w 5 5 .
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S -
KE) ol & Side lengths: 29 mm, 41 mm, 34 mm cos C ’éﬂ&o
; \; 7. Side lengths: 50 cm, 40 cm, 72 cm “224
N Qé\m' 8. Side lengths: 19 cm, 16 cm, 10 cm A \ b V\C, Cz cos™ (?j'f. ) 5 0w
=5 \
* @S 9. Side lengths: 54 in., 62 in., 58 in. o 22t

" 10. Side lengths: 36 mm, 39 mm, 43 mm Acea= ';j ("\"\X"\g) 5.“”\%60
Eﬁ 10 on bowk-l ’g%rkrem = 1051.26 w
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